228 CHAPTER 4 FUNCTIONS

EXERCISES

1. The graph of a function h is given.
{a) State the values of k(—2), R{0}, A(2), and A{3}.
{b) State the domain and range of h.
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2. The graph of a function g is given.

{a) State the values of g{—4), g{—2), ¢{0). g{2), and g{4}.

(b} State the domain and range of g.
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3. Graphs of the functions f and g are given.
(a) Which is larger, f{0) or g(0)?
(b) Which is larger, f{—3) or g(~3)?
(¢} For which valges of x is f(x) = g{x)?
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4. The graph of a function f'is given.
(a) Estimate f{0.5) to the nearest tenth.
(b) Estimate f{3) to the nearest tenth.

(c) Find all the nombers x in the domain of f so that

flx) = 1.
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5-6 = Determine whether the curve is the graph of a fun

of x.
5. {a) {b}
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7-10 & Determine whether the curve is the graph of a function
z If it is, state the domain and range of the function.
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1-18 ® A function fis given.
(@) Sketch the graph of f.
(b) Find the domain of £

M f) =1~

13, flx) = x* — 4x 14, f(x) =x*~ 4w + 4
15. flx) = VO — x 16. f(x) =\2x + 6
17. flx) = /16 — x2 18. flx} = ~25 — x? 4
19-40 & Sketch the graph of the function. .:
19. flx) =3 20. fix) = -5
21, flx) =2x + 3 22, flx) =6~ 3x
23 flx) = —x+4, —1l=sx<4
24. f(x):x;?j, T=x=2
25. flx) = —x* 26, flx) =x> 4
27. gix) = x* — 8 28, glx) = 427 — 3¢
29. glx) = J-x 30. glx) = 6 — 2x
1 2
31 Flx) =~ 32. Flx) =
33, Hix) = 21| 34, H{x} = |x + 1]
35. Glx) = x|+ x 36. Gix} = |x} —x
37. flx} = |2x — 2| 38. flx) = T}{
9 .
39. gix) = = 40. glx} = %

41-52 @ Determine whether the equation defines y as a func-
tion of x. (See Example 9.)

4. ¥+ 2y=4 42, 3x + Ty = 21

43, x = y? 48, B+ {y - 1P =4 _
45. x +y* =9 46. x> +y=19 5
a7. 3%y oy =1 48, Jx+y=12 [
49, 2xl+y=0 50. 2x + |y =0

51 x=y? 52. x = y*

%ﬁ% 53-58 = A family of functions iz given. In parts (a) and (b)
graph all the given members of the family in the viewing rec-
tangle indicated. In part {¢) state the conclusions you can make
from your graphs.

53. flyy =x*+¢

(@) c=0,2,4,6; [—5,5]by[—10,10]
) c=0, -2, —4, —6, [~3,5by[-10,10]
{c} How does the value of ¢ affect the graph?




